SIMPLER

@ ©
by ~#I(SL

Komnnekrauin

Components

[eTani KpoHwTeHa
Details of the wall mount

HacTiHHMI KpOHLWTENH
Wall plate

Mo3HayeHHA KinbKictb
Marking Quantity

@ 1

KpoHLWTENH KpinaeHHA

Mounting bracket
Mo3HayeHHA Kinbkictb
Marking Quantity

2

[na KpinneHHA nhacTHU A 10 CTiHU
For mounting the plate A to the wall

KomnnekT KpinneHHA
Set of fasteners

[na KpinneHHa KpoHwWwTeliHa B go naHeni
For mounting the bracket B to the TV

/

Mo3HayeHHA
Marking

Kinbkictb
Quantity

LWypyn 6x60 4 wr.
LLlanb6a M8 4 wr.

Dowels 10x50 4 pc.
Screws 6x60 4 pc.
Washers M8 4 pc.

Orobens 10x50 4 wr.

N 4 N

Mo3HayeHHA
Marking

Kinbkictb
Quantity

BUHT M4x12 4 wr.
BMHT M6X16 4 WT.
BUMHT M8x16 4 wr.
LWainba M4 36inblueHa 4 wr.
®iKcytoyi WHYPKK 2 WT.

Screw M4x12 4 pcs

Screw M6x16 4 pcs

Screw M8x16 4 pcs
Washer M4 increased 4 pcs

/ k Locking laces 2 pcs /

HacTiHHMW KPOHLWTEWH
nns (LCD/LED) Tenesi3opis i MOHiTOpIB

SIMPLER 28EP

Mpu3HauyeHn ana naHenen 3 KpinuabHUM 610kom VESA min 75x75 mm,
max 200x200 mm i makcMmanbHoO Baroto 20 Kr.

[Jsaryemo 3a Bunbip npoaykuii SIMPLER Big, KSL!
Bca npoaykKuia KSL Bupobnsetbes B YKpaiHi | Ha Hel Haga€eTbes AoBIYHA rapaHTial
Byapb nacka, yBaxKHO 03HaMOMTECH 3 JA@HO IHCTPYKLLEIO Nepes NOYaTKOM BCTAaHOBNEHHSA KPOHLWTENHY!
MoOHTaXK NOBMHEH NPOBOAMTUCH Y CYBOPIN BigNOBIAHOCTI A0 iHCTPYKLT!

IHCTPYKLiA 3 BCTAaHOBNEHHA

HeobxiaHWI ANA BCTAHOBNEHHA iHCTPYMEHT:
— oniseup (419 PO3MITKM MicLLb CBepANiIHHA)
— piBeHb (419 NPaBUABbHOTO rOPU30HTAIbHOTO BCTAHOB/IEHHS KPOHLUTENHA)
—nepdopatop i byp giametpom 10 i 4OBKMHOKW HE MeHLe 65 mm
— BMKPYTKa XpecToBa (411 NPUKPYyYyBaHHA FBUHTIB A0 NaHeni)
— MOJIOTOK (N5 3abuBaHHA aHKepis abo atobenis)
— KAtoy raikoBumit Ne10 i Ne8 (1A 3akpydyBaHHA rBUHTIB abo aHKepiB)

Wall mount
for LCD (LCD / LED) TVs and monitors

SIMPLER 28EP

Designed for TVs with the mounting unit VESA
min 75x75 mm, max 200x200 mm and a maximum weight of 20 kg.

Thank you for choosing SIMPLER by KSL! All KSL products are made in Ukraine. Please read these
instructions before installing the wall mount! Installation should be carried out in strict
accordance to the instructions!

Installation Instructions

Tools required for installation:
— Pencil (to mark the drilling locations)
— The level (for proper horizontal mounting bracket)
— Punch and drill diameter of 10 and a minimum length of 65 mm
— Phillips screwdriver (to tighten the screws to the panel)
— Hammer (for driving anchors or dowels)
— Wrench Ne10 and Ne8 (for tightening the screws or anchors)




3aranbHi BUMoru 6e3nekn. KpoHLWITENH NPU3HAYEHWI A7 BCTAHOB/IEHHSA Y BHYTPIWHIX NPUMILLEHHAX. MepL Hisk MOHTYBaTU

KPOHLUTEH, MepeKoHanTecs y BiACYTHOCTI MPOXOAXEHHA Ha Micli KpinaeHHA eneKkTpu4yHOro Kabento, rasonposoay,
CaHTEXHIYHMX PO3BOAOK i IHWMX KOMYHiKaLi. Hikonn He BCTAHOBMIOWMTE YacTWUHM, WO MatoTb AedekTn. KpinneHHs, wo

BXO4MTb B KOMMIEKT, NpuU3HayeHe Ansa 6eTOHHMX abo LereNbHUX CTiH, TOBLMHA LUTYKAaTypKMU He MOBMHHA MepeBuLLlyBaTtu 3

MM. 1A iHWKWX BUAIB CTiH 3HaZ06UTLCA iHLWE KpinaeHHs.
General safety requirements. The wall mount is designed for installation indoors. Before mounting bracket, make sure no
passing in place of mounting electrical cables, gas, plumbing and other communications interconnections. Never install parts

with defects. The included fasteners are designed for concrete or brick walls, plaster thickness should not exceed 3 mm. For

other types of walls need other fasteners.

Kpok 1
Step 1

-

Kpok 2
Step 2

Bubpatu 3 KOMNAeKTy KpinaeHHa D rBUHTK Bignosia-
HOi [OBXMHW | AiameTpy. BuKopwucToByiTe nuwe

PO3Mip rBUHTIB, BKa3aHWU B iIHCTPYKL,i A0 Tenesisopa!
3akpinuTM Ha naHeni Tenesi3opa KPOHWTENH B,
BUKOPUCTOBYHOYN TBUHTU 3 KOMMJIEKTY Kpil‘lﬂeHHﬂ D.

AKLWO HeobXigHOro po3mipy rBuHTIB He NepegbayeHo
B KOMMNNEKTI, Bam HeobxiaAHO npuabatu ix camocTin-

HO.
Choose from a set of fasteners D screws of an
appropriate length and diameter. Use only the size of
screws specified in the instructions to your TV! Fasten —
bracket B to the TV using the included screws from the i
set D. If required size of screws is not provided in the

kit, you will need to purchase them by yourself.

Attention! After installation, check the reliability of the bracket to the TV

Kpok 3
Step 3

YBara! licna BCTaHOBNEHHA KPOHLWWTENHY NepeBipuUTU HafiMHICTb KOro KpinaeHHA [0 naHeni Tenesisopy.

\

a A 2

BuKkopucmosyroyu naacmuHy A 'y akocmi wabsoHy,
0 MaKoMC pieeHb 3 KOMIAekmy [HcmpymeHmis,
8CMAHOBMAEHHA  KpinaeHHA

po3mimumu  micye
8i0nogioHo 0o omeopie y naacmuHi A; omeopu
po3Mawosysamucs  20pU30HMAsLHO.

MOBUHHI
Bukopucmosytoyu nepgpopamop, npocsepdaumu
omeopu y cmiHi diamempom 10 mm i enubuHoro He
meHwe 60 mm. Bcmasumu Owbeni C 8 omeopu.
3akpinumu naacmuHy A Ha cmiHi, BUKOPUCMOBYIo-
Yu wypynu i watibu 3 komnaekmy C.

Using A plate as a template and the level of the sets,

mark the place of the installation according to the
mounting holes in the plate A; holes should be
placed horizontally Using a punch, drill the holes in

the wall with a diameter of 10 mm and a depth of

Fasten the plate A to the wall using the screws and

the washers from the set C.

-

YBara! Micna BCTAHOBNAEHHA KPOHLUTENHY NepeBipuTM HaAiMHICTb MOro KpinaeHHA A0 CTiHK
Attention! After installation the plate check the reliability of the bracket to the wall.

BUpobHUK Moxce 3MiHI8aMU KOMM/AEKMayiro ma XxapakmepucmuKku eupoby.
The manufacturer may change the fasteners set and specification the product.

not less than 60 mm. Put the dowels C in the holes.

BaXKeNi KPOHWTENHiB KpinneHHA B vy

MNepesectn
NoNOXKeHHsA «P03(iKCOBAHO» (MONOKEHHA 2 Ha MastOH-
nonepesHbo 3aKpiNUTU  Ha

Ky). 3a HeobxigHocTi,
BaXKenax Gpikcyroui WHypKK 3 Komnnekty D.

~
©)
~

NI
\.

Move the mounting bracket levers B to the "Fixed"
position (position 2 in the illustration). If necessary,

pre-attach the locking lugs of Kit D to the levers.

/
™

N

Kpok 4
Step 4 [

HaBicuTu naHenb Tenesi3opa 3 KPOHLITENHAMM
B Ha nnacTuHy A, AK Lie MOKa3aHO Ha MasltloHKY. | |

MepeBecTyn BaxKeNi KPOHLWTEWHIB KpinaeHHs (B)
Yy NONOMEeHHA «3adikcoBaHO» (nonoxeHHa 1,

[VB. KPOK 3).

Hang the TV with the B brackets on the plate A,
as shown in Fig. Move the mounting bracket /

levers (B) to the "Fixed" position (position 1, see

step 3).

o



